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o JUOODODOOO
— Y=aX+0b000 (a,b: O00) EY)=aE(X)+b, V(Y)=a?V(X)
- EX+Y)=EX)+EY) (EXi+--+X,) =EX1)+ -+ E(X,))
- XO0YUOOOODOUOOEXY)=EX)EY), V(X4+Y)=V(X)+V(Y)
e JIOO X ~ B(n,p):
- 10000000 pO000OD0O0OCOO0OO0nOOODOODOOOODODOOO =X
~ P(X=k)=nCep*(1—p)"*
- B(X)=np, V(X)=np(l-p)

[1] 00DODDD0 XO0OOODOOOOOO0OO0D000O0X 000 E(XX)000 V(X)00000o
() 00000 600000010000000 =X

(2)00000 30000001000 60000000 =X

(35000 0000000000000 0OOO0O0O0UODOO0 =X

(40000 200000000000 240000000020006((60000)00000 =X

[2] ooooooooo
(5)00 2000 00000 POOI0O0O0O0OO0O0O00010600003000000000000 100
0003000000000000 POOO0 YOOOOOOYOOOOD E(Y)DODOO0O0O(@OO: 00 (2)

(6) 00 4)00X=000000000
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